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QUARTERLY CoMMON EXAMINATION - 2022

9 .51 MATHS .
Time : 230 Hrs : ., gr | ' Marks : 100
I Answer all the questions. RN R : T 14X1=14
1. IfAUB = AnB then : _ ‘ :
. a)Ax B b)A=B : AcB - d)BcA
2. For any three sets P,Q and Ii, P-(Qn R)‘is £ e B Ea i
a) P - (QUR) b) (PAQ) - R c) (P-Q) U (P-R)  d) (P-Q) m (P-R)
3. LetA={¢}B=P(A)then AnBis o NENPRY : o S k7t
a) {¢, {$}} b{gy . ¢ . - d) {0}
4,  Which of the following is true? _ ' -
a)(A-B)=AnB b)(A-B)=B-A c) (AUB) = A'nB’ d) (AnB)' = AUB'
‘5. Which one of the following is an ifrational number ' _ . :
a)y25 b) 974 L) TML e d x
6. 27 I iiiisinisiannasnn ot ' :
a) 39 b) sJ6° 953 A
7. 1f 2=014285T the the value of >is : _
a) 0.142857 . b) 0714285 . - €).0571428 d) 0.714285
8.  0.43+0. 43 iR areasesss ' ; v o ‘ Ry
a). 0867 b) 0.867 . c) 0.867 d) 0.867
9. Zeros of (2-3x) is : . : ;
a)3 b)2 - . ~ c)2/3 d) 3/2
10, The zero of polynomial 2x + 5 is - , )
a) 5/2 b) -5/2 c)2/5 d).-2/5
11. IfP(a) =0then (X-2a)IS53 .ceirrerrnarinrnnncrnnns if p(x). :
a) divisor b) quotient * c)remainder d) factor
12, If x5 + 51 is divided by x + 1 then the remainder is
a) 0 ‘ b) 1 ' c) 49 d) 50
13. The exterior angle of a triangle is equal to the sum of two 2 !
a) Exterior angles  b) Interior opposite angles c) Alternate angles  d) lnterio'lf angles
14. 1f the diagonal of a rhombus are equal, then the rhombus IS @ ........cveeeenes o Y
a) Parallelogram but not a rectangle b) Rectangle but not a square
- €) square d) parallelogram but not a square
II = Answer 10 questions. Question No. 28 Is compulsory. _ 10 X 2 = 20
15, 1f A={6,7,8 9} and B={8,10,12} find AAB.
16. If A={b,ef,g} and B={c,e,g,h} then verify the commutative property of- unlon of sets
17. 1f n(A) = 25, n(B) =-40, n(AuB) = 50 and n(B) = 25 find n(AnB) and n(u)."
18. Convert the following decimal numbers in the form of P/q 0.45-
19,

Slmpllfy 5V3+1843-243.
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24,

25..

26,
27‘

28,

111
29’

i
36:

29,
40,
. 41,

42,

v
43,

44,
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Find the value of 8 and b If J’*""’ o a,f’f + [;
Find the value of M, if (x=2) Is a factor of thc polynomlal 2% - 6x’+mx+ 4.

Factorise 297 4 15% + 27,
The length of a rectangle is (3x42) units and 1t5 breadth Is (3x-2) units, F ind Its area interms of
. What will be the area if x = 20 units,

- Find the quotient and the remainder when (Sx’ 7%+ 2) 4 (x -1).

The angles of & triangle are In the ratlo 1 ; 2 3 find the measure of each angle of the triangle
In the figure, AB Is parallel to CO find x." 0/4'-"

“‘sr "f’f

P I S——L. .3 »

..,....__........_...,..._..‘ v
AABC and ADEF are two triangles In which AB = Dr, ZNACB = 90°and £ ABC = 60°, / DEF=70°
and 4 EDF = 60°prove that the triangles are congruent,

Simplify : (300000)* X (2000)*, ;

Answer 10 questions, Question No, 42 Is compulsory. 10X 5= 50
If As{x : %ez2 -2 <%x 454}, B= (x:ix%xew x%55) C= {4, -1, 0,2,3,4} then verify
Ar(BUC) = (AnB)U(ANC). :
Verify (AU B)' = A'~ B using Venn dlagram.

In an examination 50% of the students passed In Mathematics and 70% of students passed in
Science while 10% students falled on both subjects. 300 students passed in both the subjects.
Find the total number of students who appeared In the examlnatlon if they took examlnatlon in
only two subjects.

Let U= {0,1,2,3,4,5,6,7} A = (1 3,5,7) and B = {0,2,3, 5 ,7} find the following sets.

DA B ) AAB V) (AnB) V) (B
hrrange In ascending order 2, 34, 43.

1
W= J/5 + 2 then find the value of oy +

22
Simpliy : 3) 5440+ 24535 - 3&/17:7' b) N;;'J;— ] \[—

pationzlize the denominator and simplify @ %—r-—‘]-
LAU0 50 B > e ]
342

1 (n48) (n#b) (x+€) = x*+14%2459x470 find the value of 1) 1/a + 1/b + 1/c " iI) a2 + b? + ¢,
If the quotient on dividing x* + 10%* + 35x? 450 + 29 by (x+4) Is x? - ax? + bx + 6 then find
the value of a,b and also remalnder,

Factorige : % - 3% - 104 + 24, _

The anglos of a quadrl!atpral areintheratlo 2 :4 : 5 : 7, Find all the angles.

The length of the diagonals of a rhombus are 12¢m and 16¢m find the side of the rhombus.

8542
fnw:(, J7 = 1.414 find the value of "'*""T (to 3 places of doclmdl..)

Answar the both quéstions, 2X8=16
a) Construct the centrold of APQR whosa sldes are PQ - Bem, QR = 6¢cm, RP = 7¢m, (OR)

bj Construct APQR. whose sldes are PQ = 6 ¢m £Q = 60° and QR = 7 cm and locate its
orthocentre,

#) Drawvi the ;mphnw following & y = 4% » 1, (OR) b) Solve gmphlcnlly Xthy=7,Xx-y=3,
9 - 5TD Maths Page -2

Kindly send me your district question papers to our whatsapp number: 73589@Cam80anner


https://www.padasalai.net/
https://www.padasalai.net/

